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import numpy as np

xdata = np.array([1,2,3,4])

ydata = np.array([1,2,5,11])

BNZFEDERAER (normal equations)hh5KH 513 TH 1 V1THAL,  $$ A=\left( \begin
{array}{ccc} 1. & 1. & 1.\

1.&2.&4.\
2.&3.&9.\
3. & 4. & 16. \end {array} \right) $$ &3, AT AD#iT5h 5

a=(ATA) ATy

[CEDRB/INTA—=Fa%Re, T—5 LRI plot €&.

221—hVDEDEME(25R)

2&EL T KB (log[2) (2)) Dz = 2icH W BEF(2.0)%2 = 1— b Y OESTEHEEANTRS
5. Za1—hUOREARE,
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E ar ye=Fo(zr) | filzkzesr]  f2l@h e, Trae]  f3] Tk, That, Tha2, Thes)

0 1.4 0.4854268272
0.906425198

1 1.8 0.8479969066 [(XXX]

0.723766544 0.0639712067
2 22 1.137503524 —0.1515578700

0.602520248

3 2.6 1.378511623
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0.8479969066 — 0.4854268272
filzo,z1] = 18_14 = 0.906425198

TRHOEND. Za1— b YOEDED—RLZEADEIIX=2.0T

F(.’E) = F0(1.4) + (CE — :Eo)fl \_$0,:E1J (1)
= 0.4854268272 + (2.0 — 1.4) x 0.906425198 (2)
= 1.029281946 (3)

E1RB.
(1) EHXEBEOERDOB VT WS ERT XXX 2125 &.
(2) Z2— kYO REZER

F(z) = F(zo) + (z — 20) fil2o, 1] + (x — 20)(z — 1) f2| 0, T1, T2
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127 Ulog, (2) = 0.6931471805599453 ¢ 3.
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import matplotlib.pyplot as plt
def my_plot(xx, vv, tt):
plt.plot(tt, xx, color = 'b', linestyle='--', label="x-position")
plt.plot(tt, vv, color = 'r', label="mass velocity")
plt.legend()

plt.xlabel('time")
plt.ylabel('position and velocity')
plt.grid()
plt.show()

def euler3(x0,v0):

vl = v0 +(- k % x0 ) * dt

x1l = x0 + vO * dt

return [x1, v1]

friction = 0.1
t, dt, k=0.0, 0.01, 0.1
tt,xx,vv=[0.0],[1.0],[0.0]
for i in range(0,6000):
t += dt
x, v = euler3(xx[-1],vv[-1])
tt.append(t)
xx.append(x)
vv.append(v)

my_plot(xx, vv, tt)



